
WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

1 of 4

LED Bionic™  |  Linear, Surface & Wall
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

1.	 �See row diagram or Prudential Lighting plan layout (if provided).  
Begin all row mounting from left to right (see arrows).

2.	 Depending upon ceiling or wall construction reinforcement may be required at mounting locations.

3.	 �Asymmetric fixtures have groove in lens on LED side.

4.	 Use lens removal tool to remove lens.

5.	 CONTINUOUS ROW:  
Install one fixture section at a time. DO NOT assemble fixture row on ground,  
then hoist up to ceiling. Gaps at the fixture seams can result from this installation method.

1.	 Insert aligner splines halfway into first fixture.

2.	 Align and insert second fixture onto aligner splines.

3.	 Remove lenses from fixtures.

4.	 �Secure end plates of fixtures together with (4) 8-32 screws.  
MUST remove reflector to gain access to top holes

1.	 �Insert finish plates into end plate holes at start 
and end of row and secure with #8 palnuts. 

2.	 Reinstall lenses onto start and end fixtures.

F I X T U R E  J O I N I N G F I N I S H  P L AT E S

FIXTURE JOINING       

FINISH PLATES

PENDANT MOUNTING

Aligner 
 Splines

FIXTURE JOINING       

FINISH PLATES

PENDANT MOUNTING

8-32 x 1/2˝  
Screws

8-32 x 1/2˝  
Screws

FIXTURE JOINING       

FINISH PLATES

PENDANT MOUNTING

Finish  
Plate

#8 Palnuts

CABLE MOUNT:

1.	 Follow directions for standard adjustable cable/cord mounting on ceiling side.

2.	 �Slide square 1/4-20 nut into top groove or under hanger slot to match mounting hole.

3.	 Screw cable gripper into nut until it bottoms out and adjust height of fixture  
with cables until row is level.

P E N D A N T  M O U N T I N G

STEM MOUNT:

1.	 Follow standard directions to install stem  
and canopy on ceiling.

2.	 Screw a 1/4  nut onto bottom end of stem.

3.	 �Insert stem into fixture and secure with  
a 1/4 IP nut inside. 

FIXTURE JOINING       

FINISH PLATES

PENDANT MOUNTING

FIXTURE JOINING       

FINISH PLATES

PENDANT MOUNTING

Cable 
Grippers

1/4-20  
Square Nut

D O W N L I G H T  
F I X T U R E S  O N LY

FIXTURE JOINING       

FINISH PLATES

PENDANT MOUNTING

Hanger Slot 
in Endplate

Cable

F I X T U R E S  W I T H 
U P L I G H T 

1/4 IP Stem

1/4  IP  
Nut

NOTE : �Remove reflector (not safety cable), make electrical connections,  
then reinstall reflector and lens.

Groove towards  
LEDs

ASYMMETRIC  
LENSES

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-06-2019



WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

2 of 4

LED Bionic™  |  Linear, Surface & Wall
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

1.	 �Remove bottom reflectors from housing. (DO NOT REMOVE SAFETY CABLE).

2.	 �Mount wall spacers to J-Box (by others) or to structure surface with screws (by others).

3.	 �Feed wires into fixture through 7/8˝ wire holes.

4.	 Secure housing to wall spacers with 2x #10 hex nuts per bracket.

5.	 Make electrical connections and reinstall reflectors and lenses.

WA L L  M O U N T I N G

1.	 �Remove reflectors from housing. (DO NOT REMOVE SAFETY CABLE).

2.	 Feed wires into fixture through 7/8˝ wire hole.

3.	 �Secure housing to surface with mounting screws and washers by others. 

4.	 Make electrical connections.

5.	 Reinstall reflector and lenses.(Shipped separately).

MOUNTING DIMENSIONS

Overall  “A” # Screws Needed  “B”

2’ 4 17˝

3’ 4 29˝

4’ 4 41˝

6’ 4 66˝

8’ 8 41˝

5˝

31/2˝

5/16˝ Diameter

Dim “A”

Dim “C” Dim “C”Dim “E” Dim “E”
Dim 
“D”

Dim 
“D”Dim “C”

Dim “A” Dim “A”

Dim “A”

10˝ O.C

31/2˝31/2˝

42/5˝

Ø 7/8˝Ø 5/16˝

Dim “B” (Repeated)

℄

2FT-8FT :

WALL SPACER

WALL BRACKET

FIXTURE JOINING       

FINISH PLATES

PENDANT MOUNTING

Mounting Screws & Washers  
(BY OTHERS)

Reflector

FIXTURE JOINING       

FINISH PLATES

PENDANT MOUNTING

Wall  
Spacer

Mounting 
Screws  

(BY OTHERS)

#10-24  
Nut

1/2˝ or 2˝

96˝

48˝
31/2˝

5˝

151/2˝ 151/2˝ 7˝10˝

Ø 7/8˝ Ø 5/16˝

℄

8FT :

21/4˝3˝

S U R FAC E  M O U N T I N G

CROSS SECTION:

CROSS SECTION:

MOUNTING DIMENSIONS

Overall  “A”  “C”  “D”  “E”

2’ 14˝ 5˝ 10˝

3’ 26˝ 5˝ 10˝

4’ 38˝ 5˝ 10˝

6’ 62˝ 5˝ 10˝

8’ 86˝ 5˝ 10˝

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-06-2019



WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

3 of 4

LED Bionic™  |  Linear, Surface & Wall
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

1.	 Remove lens and reflector out of fixture.

2.	 From mounting kit provided, install canopy, wall bracket arm assembly to fixture. Secure with (2x) #8 x 1˝ hex head screws.

3.	 Mount wall plate to j-box (by others) or structure surface at required locations (see layout).

4.	 Lift fixture, feed wires into fixture and slide onto wall plate and secure with (2x) #6-32 x 1/4˝ screws. Slide canopy back until it is flush with wall.

5.	 Make all necessary wiring connections.

6.	 Reinstall reflector and lens.

7.	 Repeat steps 1-6 for rows

8.	 Install finish plates.

—  See row diagram or Prudential Lighting plan layout (if provided). begin all row mounting from left to right facing wall surface (see arrows).

—  Depending upon wall construction, reinforcement may required at wall plate mounting locations.

WA L L  B R AC K E T  I N S TA L L AT I O N

Feed Location

#8 x 1˝ Hex  
Head Screw

Wall Plate  
Support

#6-32 x 1/4˝ Phil Pan 
Head Type F Screw

Reflector

Canopy #6-32 x 1/4˝ Phill Head Screw

Wall Bracket Arm 
Assembly

31/2˝ Octagon 
J-Box or Wall 

Structure  
(BY OTHERS)

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-06-2019



WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

4 of 4

LED Bionic™  |  Linear, Surface & Wall
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

CEILING WASH  PERIMETER FILL CEILING WASH  BATWING WALL GRAZEWALL WASH

CEILING WASH  PERIMETER FILL CEILING WASH  BATWING WALL GRAZEWALL WASH

LED array opposite  
wall side

D1G Reflector 

AWL Lens

W
A

LL

W
A

LL

Align lens feature with 
same side as LED

Groove on 
LED side

Prisms on 
both sides

Smooth 
lens face

Groove on 
LED side

L E N S  C O N F I G U R A T I O N

WA L L  G R A Z E

D1G-AWW D1W-AWL

WA L L  WA S H

AWW Lens
D1W Reflector

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-06-2019


